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CBA Practice paper model answers 

Basic Accounting II (BAII)
Practice Assessment 3
Section 1 
Task 1.1

[image: image2.png](a) What entry would be made in the suspense account to balance the trial balance?

Itis important to understandthe types of errors that are disclosed by the tial balance andthose that are not.

(b) Show which of the errors below are, or are not, disclosed by the trial balance.

IRecording a bank payment for motor expenses on the debit side of the
Imotor expenses account only.

[Recording a paymentfor ravel expenses in the bank account, the travel
lexpenses account, and the motor expenses account.

[Recording a BACS receipt from a credit customer in the bank account
jand sales ledger control account only.

[Recording a payment by cheque {0 a credit supplier in the bank account
Jony. v
incluging the balance ofthe motor vehicles account twice in the trial v
lbatance.

Incorrecty calculating the balance of an accountin the sales ledger.





Task 1.2

[image: image3.png](a) Record the journal entries needed in the general ledger to write off the net amount and the VAT.

‘Amount

Account name %

Debit  Credit

recoverable debts

AT

[Sales leager control





Task 1.2, continued


[image: image4.png](b) Complete the journal by showing whether each amount would be in the debit or credit column.

“The Journal

[Motorvenicte expenses 1,425]
[Capital 23.605|

[Purchases 3612

|Loan from bank 15,000)

IMotor venicle 25.220)
[Motorvenicte insurance 400)
IDiscounts received 189

[Fistures and ftings 8420
lofice expenses 230)
[Bank inerest received 423

[Joumaito record he opening entries of new business






Task 1.3

[image: image5.png](i) Record the wages expense.

Account name Amount

[Wages expense

[Wages control

Debit  Credit

(i) Record the HM Revenue and Customs fiability.

‘Amount
Account name

[> ] Revenue and Customs

[Wages control v 3484]

£
v 3484]

Debit  Credit

(ii) Record the net wages paid to the employees.

Account name Amount

[Wages control

:
~ I —

Debit  Credit

() Record the Pension liability.

‘Amount
Account name

[ pension
[Wages control

:
~ I
™

Debit  Credit





Task 1.4
[image: image6.png](a) Identify the error and record the journal entries needed in the the general ledger to:

(i) remove the incorrect entry

‘Amount
£

Account name

Debit
AT

(il record the correct entry

‘Amount

Account name 5

Debit

(ii) remove the suspense account balance.

‘Amount

Account name %

Debit

[Suspense





Task 1.4, continued
[image: image7.png](b) Record the journal entries needed in the general ledger to:

(i) remove the incorrect entry

‘Amount

Account name 5

Debit  Credit

[Travel expenses

[Bank.

(il record the correct entry.

‘Amount
£

Account name Debit  Credit






Task 1.5

[image: image8.png]Office furniture

Details

‘Amount

Details

‘Amount

Offce expenses

3

2,186

3

Office expenses

Details

‘Amount
3

Details

Offce fumiture

‘Amount
3

2,188

Details

Balance of

£

Wages
— ‘Amount — ‘Amount
3 3
suspense 840
Suspense
‘Amount ‘Amount

Details

3

840

Rent and rates

Rentand rates.

Details

‘Amount
3

Details

suspense

‘Amount
3
225





Task 1.6

[image: image9.png]v

vi[vi[vi[vi[vi[vi[v][v][v][v][v][v][v][v][v]][v][v]][v]][v]

Trial balance

[Administaiive expenses
jITecoverable debts wiiten off 2150 2150
[Casn atbank 5200 5200
[Capial 35057 E=
[Discounts recenved BO BO
[Wiscellansous expenses 75 57|
jWotor erpenses 7639) 7539
[Ofice expenses 2105 2105
[Petty casn 700) 00
[Premises expenses 5933 5933
[Purchases 9922 95222
[Purchases leager cortrol 50424 50424]
[Rentandrates 4000 5000
[Sales 780402 780402
[Sates fedger contral 12109) 712109
[Sales retums Eg 0
[Travel erpenses 325 5189
[VAT owing o M Revenue and Gustoms 5900 B
[Wages 20505 40508
fFotais 267309 267309)






Section 2

Task 2.1
[image: image10.png](a) Enter the details from the cash purchases listing, the trade payables listing and cheque book stub into
the credit side of the cash-book shown below and total each column.

Cash-book — credit side

[Balance b 2123|




 
[image: image11.png](b) Enter the above details into the debit side of the cash-book and total each column.

Cash-book - debit side

Details

Discount
£

Trade
receivables

Batance b =
Donna Day ¥ 20 20
Fowkes Lia v 3

Total E =






Task 2.1, continued

[image: image12.png](c) Using your answers to (a) and (b) above, calculate the cash balance. Do not use commas when entering
figures in this part of the question.

£

(@

Using your answers to (a) and (b) above, calculate the bank balance. f your calculations show that the.
‘bank account is overdrawn your answer should start with a minus sign, for example -123. Do not use

‘commas when enterin

g figures in this part of the question.

3617

(&) Wil the bank balance calculated in (d) above be a debit or credit balance in Gold Ltd's accounting records?

[Creaitbatance






Task 2.2
[image: image13.png]Cheque
Num
0088301
0088302
0088303
0088304
0088308
0088308
0088307
0088308

B Lta
|Layton Beams

AlAlA[A[A[A[A[A[AA[A[AlAl4






Task 2.2, continued

[image: image14.png](a) Check the items on the bank statement against the items in the cash book.

(b) Enter any items in the cash book as needed.

(c) Total the cash book and clearly show the balance carried down at 25 July (closing balance)
‘and brought down at 26 July (opening balance).

() Complete the bank reconciliation statement as at 25 July.

‘Bank reconciliation statement as at 25 July 20XX

Bates & Bibby.
Wright & Wells

[Name:  Beaver Brand B4 200
[Name: Granaa Co ~






Task 2.3
[image: image15.png]Petty cash-book

Debit side Credit side

Travel office Other
expenses. expenses  operating costs

Details. Amount Details. Amount

Balance b [Business lunch 33.20 3320
[Train tickets 2480 2480
[Printer paper 2150 350 18.00
[Balance cid 45.40
125.00 125.00 3680 2480 18.00 3320





Task 2.4
[image: image16.png](a) Complete the petty cash reimbursement document below to restore the imprest amount of
£100.00 0n 1 July.

Petty cash reimbursement

Date: 1.07.20%

Amount required o restore the cash £ 001
inthe pety cash box





[image: image17.png](b) Complete the petty cash vouchers below.

Petty cash voucher Petty cash voucher
Date: 03.07.20XX Number: PC440 Date: 06.07.20XX Number: PC441
Fuel Envelopes

Net £ 24.00 Net £ 18.00

VAT B 280 VAT £ 360

Gross. B 2580 Gross £ 2760






Task 2.4, continued
[image: image18.png](c) Whatis the new balance on the petty cash control account?

£ [s960





[image: image19.png](d) Complete the reconciliation below.

The amount of cash in the pety cash boxtotals £ [35.65

|which reconcile with the balance on

the petty cash control account

[Petty Cashier






 Task 2.5
[image: image20.png](a) Show whether each entry will be a debit or a credit in the sales ledger control account in the general ledger.

Sales ledger control

lBalance of trade receivables at 1 July 200,179
(Go0ds retumed by credit customers 1,107]
lPayments made by credit customers 138218
Discount allowed 245
(Goods soldto credit customers 125633

(b) What will be the balance brought down on 1 August on the sales ledger control account?

1£228,732 debit

16228732 credit

1£228,242 debit

16228 242 crecit

1£230,456 debit

1£230,456 credit





Task 2.5, continued

[image: image21.png](c) Reconcile the balances shown above with the sales ledger control account balance you have calculated in Part (b).

B
|sales ledger control account balance at 1 August 228242
[Total of sales ledger balances at 1 August 220349
IDifterence 1107

(d) If the balance on a sales ledger control account s lower than the total of the balances n the sales.
ledger, which of the following might have caused the discrepancy?

Discounts allowed may have been entered in the sales ledger twice.

Discounts allowed may have been omitted from the sales ledger.

Goods retumed may have been omitied from the control account

Gold Ltd prepares an aged trade receivables list atthe end of every month.

(€) Show whether the following statement s True or False.

An aged rade recsivables listis useful because it ighlights overdue customer account balances.

Tue

False





Task 2.6
[image: image22.png](a) What will be the entries in the VAT control account to record the VAT transactions in the quarter?

VAT Control

[Sales retums

[Purchases

[Purchases retums

vi[vi[vi[v][v]

[Cash sales

The VAT retur has been completed and shows an amount owing to HM Revenue and Customs of £15,400.

(b)s the VAT retum correct?

Yes





Task 2.7 

[image: image23.png](a) Select whether the services listed below are offered by banks only, or by both banks and building
Societies.

T

buidi

[Foreign currency

IMortgage

ISafe custody

[savings account

INight safe





[image: image24.png]Itis important to allow sufficient time for cheques paid into the bank to clear before requesting the funds.

(b) Which ONE of the following statements is true?

[f botn the payee and drawer of the cheque bank atthe same branch of
ftne same bank clearance usually takes place the same day

[ botn the payee and drawer of the cheque bank at difierent branches
Jofthe same bank, clearance usualy takes place the same day.

I botn the payee and arawer of the cheque bank at different banks,
|ctearance usually takes place the same day.





Task 2.7, continued
[image: image25.png](c) Which TWO of the documents below are banking documents that must be retained by Gold Ltd.

|supplier invoices

|customer invoices.

|cheque book stubs

[BACS remittance advice notes

|Bank statements

|Aged trade receivables analysis





Task 2.8
[image: image26.png]Show which form of payment is most appropriate to each of the situations below. You should select each
form of payment once only.

Reimbursement of car parking expenses to a
member of staff.

Payment of wages to employees.

Payment of telephone charges by variable,
monthly instaments

Payment made to a plumber for emergency
repairs.

Payment of rent by equal montnly instalments

Purchase of goods through the intemet.
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